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#define uint unsigned int

sbit key2=p2°8; AR EFEEE

shit key1=P2~1; S REEE

sbit CLOCK=P2"4; SRS

shit ST=P2"5; Slstart FTBiHEE

shit EOC=P2"6; / /8809 FIEOCTTE 5 P26 155
sbit QE=P2"7; / /8809 SI0E BIFE 5 Fip2~7 455
shit PWM=P2~3; S /PWMER S B S im B

uint temp; S BN BB RE

uchar start; L EN B S s tart

void keyscan(};
void delay(uint z);

void main(}

{

Pi=0;Pe=0xff; //EFEFOLEFHL

TMOD=8x82; // i & T4 S 8%t

THe=@x01; //EEELHAFEN T T

TLe=exee; //#EHELLHFEsi TR

IE=0x82; /S B G

TRE=1; S ERT L AR

start=8; /B

while(1)

{
keyscan();
while(start)
1
ST=0;5T=1;5T=0; // S 0ADCegag
while(!EOC); S EHEOCE &4,
0E=1;
temp=P1; L7 EBA/D gt
OE=8;
Plit=1; /PN R B 8
keyscan();
delay(temp); /o E R
PlWM=8; S/ PWM R 2 B
keyscan();
delay(255-temp); A A R
I
I
h

void keyscan()

{

key2=1; //P3 2811 EF&
keyl=1; //P3*1M0&1  iF
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